Use your calculator to evaluate llm;f;; é: f:zf’\(l;)) ]?>\/ M f:": SCORE: /1PTS

Fill in the table below showing the input and output values you used to arrive at your answer. You must use at least 6 input values.
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Let P be the point on the curve of f(x) =3 +x” where x =1, & 12/\11213 BY M SCORE: /2 PTS
=
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[a] If O is the point on the same curve where x = a, e

write the expression for the slope of the secant line PQ. o — |

[b] Use your calculator to evaluate the slope of 6 appropriate secant lines, then guess the slope of the tangent line at P
Fill in the table below showing the values of @ and the corresponding slopes you used to arrive at your answer.

i O .9 099 0999 Lol .ol b
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